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1. Select the correct answer : 1x6=6

(@) Which of the following has the highest
lability?

(i) SFg

(i) [PFg]”
(i) [SiFg)?~
(iv) [AlFg]3~
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| (3)

(2)
®B) The o : fe) In the complex [CU[H20]6]2+ , the metal

3 FSE fo au- . i ti

crystal fielq i; the d3-ion in strong ion has configuration
' (i) d

@i 4 Dq

] [ 2

(i) 8 Dq (@ d

*ra e 9

(@) 12 pq (i) d

fiv) 16 Dq (iv) a*

() The number of 4 f-electrons  In
) The metqy lanthanum is

anhydrase ig SSeent iin carbonic (RS
(i) Mg (@ 1
(i) Fe ‘ (@) 2
(i) Zn _ | (iv) 5
(i) Co
UNIT—I
2. Answer the following questions : 2x4=8

If ingested !
Y » cadmiym accumul i
(i) liver ates in ! y
(a) What are labile and inert complexes?

(i) kidney Give examples. 2
[} bone (b) Define crystal field stabilization
fiv) muscles energy. Find CFSE for strong field
d® complex. 1+1=2
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(4)

(C) Arrange th.e 1
and H
the

e oo on
Strength © Increasing order of
. 8 given in spectro-

ich of the following

1+1=2
(d)

3. Answ
er a-ny tlUO questio
ns

{a) What are jon 3X2=6

; . izatiop :

is 0

_Somerism gng  ° 1S0Merism, fin)

N Coordip sseuoidnation jenmart e

with ex 00 comng 1Isomerism
ampleg, Plexes? Explain

1x3=3
(b} DEﬁne Ster '

fc)  Write three b 1+2=3
bond theory asic Postulates of valence

T) in complexes. 3
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4. Answer any two questions : 4x2=8

(@)

(b)

(c)

Discuss the crystal field splitting in the
complex [Fe(CN) 6]4_. Calculate its spin
only magnetic moment and crystal field
stabilization energy. 2+2=4

For the [Cr(H,0)g)?" ion, the mean
pairing energy (P) is found to be
93500 cm!. The magnitude of Ay is

13900 cm™!. Calculate the CFSE for
the complex in both high-spin state
and low-spin state. 2+2=4

Why is there no case of high-spin and
low-spin for a d® system Ni%%)?
Explain in the light of VBT citing
examples. 4

UNIT—II

5. Answer any three questions : 3x3=9

(@)

Give reasons—
(i) why Zn, Cd, Hg are not regarded
as true transition elements;

(i) why ["I‘i(I~I2O)6]3+ ion is violet. -
1%+1%=3

(b) Explain the Latimer and Ebsworth

diagram to account the stability of

various oxidation states and e.m.f. 3
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(6)

() Write any three differences between

first- and second-transition

elements,. g

(d) Give reasons for the following :

1%+1%=3

Tl on: s
] more
e B stable than
i Bt
(@) [CoFg]®~ is Paramagnetic,

6. Find the nu
mber of y i
) _ npaired e]
in iﬁ?tf the Spin-only magnetio o 5
ollowing Complexes - momex:1;_2=4

() [Fe(H,0)]2
(@) [Co(CN)]3-

UNIT—I11

@) Wh e
at
lanthan'are the consequences of
ide Contraction?

(b)

aC . & i
is stapy. 5 the only lanthanide WhicH

€ in (+4) oxidation state.” JUSHY
€ statement.

(c) Sm 2+
) i t and
) Cm“" 1S a good reducing agg:;plain-
€ is a good oxidizing 286"
24p/ ik, 1 ( Continued )

(7)

UNIT—IV
8. Answer any fwo questions : 4%2=8

(a) Discuss the structure and function °
of carboxypeptidase. 2+2=4

(p) Draw the structure of haemoglobin.
How does it help in oxygen
transport? 2+0=4

(c) Discuss the poisoning effect of Hg
in human body. How can it be

treated? i

* %k X
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